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AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m ̀ m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.

 Question Booklet Bar Code Serial No.
àíZ-nw{ñVH$m ~ma H$moS> H«$_ g§»`m
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gm_mÝ` kmZ
General Knowledge

	 1.	 _mM© 2025 _| gwZrVm {d{b`åg Ho$ gmW n¥Ïdr na bm¡Q>Zo dmbo A§V[aj `mÌr H$m Š`m Zm_ h¡ ?
	 (A)	{dŠQ>a ½bmoda	 (B)	 Ooao_r h¡ZgZ	 (C)	 Om°Z ½boZ	 (D)	 ~wM {db_moa
		  What is the name of the astronaut who returned to earth along with Sunita Williams  in March 2025 ?
	 (A)	 Victor Glover	 (B)	 Jeremy Hansen	 (C)	 John Glenn	 (D)	 Butch Wilmore

	 2.	 _mYd amîQ´>r` CÚmZ {Ogo ^maV H$m 58 dm§ ~mK A^`maÊ` Kmo{fV {H$`m J`m, {ZåZ{b{IV _| go {H$g amÁ` _| 
pñWV h¡ ?

	 (A)	_oKmb`	 (B)	 _Ü`àXoe	 (C)	 _{Unwa	 (D)	 _hmamîQ´>
		  Madhav National Park that was declared India’s 58th Tiger Reserve is situated in which of the following 

States ?
	 (A)	 Meghalaya	 (B)	 Madhya Pradesh	 (C)	 Manipur	 (D)	 Maharashtra

	 3.	 {ZåZ{b{IV _| go {H$ZH$mo 2024 _| "^maV aËZ' go gå_m{ZV {H$`m J`m ?
	 a.	E_. Eg. ñdm_rZmWZ
	 b.	Mm¡Yar MaU qgh
	 c.	H$ny©ar R>mHw$a
	 d.	ha_ZàrV qgh
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a	 (B)	 Ho$db a d b	 (C)	 Ho$db a, b d c	 (D)	 Ho$db a, b  d d
		  Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
	 a.	 M. S. Swaminathan
	 b.	 Chaudhary Charan Singh
	 c.	 Karpoori Thakur
	 d.	 Harmanpreet Singh
		  Choose the correct answer from the options given below :
	 (A)	 Only a	 (B)	 Only a and b	 (C)	 Only a, b and c	 (D)	 Only a, b and d

	 4.	 _hmXoB© dÝ`Ord A^`maÊ` {ZåZ{b{IV _| go {H$g amÁ` _| pñWV h¡ ?
	 (A)	_Ü`àXoe	 (B)	 CÎmaàXoe	 (C)	 N>ÎmrgJ‹T>	 (D)	 Jmodm
		  Mhadei Wildlife Sanctuary is located in which of the following states ?
	 (A)	 Madhya Pradesh	 (B)	 Uttar Pradesh	 (C)	 Chattisgarh	 (D)	 Goa

	 5.	 h_mao Xm±V H$m D$nar ^mJ H$R>moa BZo_b go T>H$m ahVm h¡ Omo _w»`V: ~Zm hmoVm h¡ 
	 (A)	H¡$pëe`_ H$m~m}ZoQ> H$m			   (B)	 _¡½Zr{e`_ \$mñ\o$Q> H$m
	 (C)	H¡$pëe`_ \$mñ\o$Q> H$m			   (D)	 H¡$pëe`_ Am°ŠgboQ> H$m
		  Our tooth crown remains capped with hard enamel which is principally made of 
	 (A)	 Calcium Carbonate			   (B)	 Magnesium Phosphate
	 (C)	 Calcium Phosphate			   (D)	 Calcium Oxalate
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	 6.	 EZ.B©.nr. 2020 Ho$ AZwgma _mÜ`{_H$ {dÚmb` {ejm Ho$ AÝVJ©V {H$Z H$jmAm| H$mo em{_b {H$`m J`m h¡ ?
	 (A)	H$jm 6 go H$jm 9			   (B)	 H$jm 4 go H$jm 6
	 (C)	H$jm 5 go H$jm 8			   (D)	 H$jm 6 go H$jm 8
		  Which classes are included in the middle school education according to NEP 2020 ?
	 (A)	 Class 6 to Class 9			   (B)	 Class 4 to Class 6
	 (C)	 Class 5 to Class 8			   (D)	 Class 6 to Class 8

	 7.	 {ZåZ{b{IV _| go {H$gZo g_J« {ejm H$s AdYmaUm H$m à{VnmXZ {H$`m Wm ?
	 (A)	lr Aaq~Xmo			   (B)	 ñdm_r X`mZÝX
	 (C)	ñdm_r {ddoH$mZÝX			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  Who among the following propounded the concept of Integral Education ?
	 (A)	 Sri Aurobindo			   (B)	 Swami Dayanand
	 (C)	 Swami Vivekanand			   (D)	 None of the above

	 8.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
		  gyMr – I		  gyMr – II
	 a.	 {ejH$ {ejm	 I.	 EZ.B©.nr. 2020 H$m AÜ`m` 23
	 b.	 àm¡Úmo{JH$s H$m Cn`moJ	 II.	 EZ.B©.nr. 2020 H$m AÜ`m` 20
	 c.	 ì`mdgm{`H$ {ejm 	 III.	 EZ.B©.nr. 2020 H$m AÜ`m` 21
	 d.	 àm¡‹T> {ejm	 IV.	 EZ.B©.nr. 2020 H$m AÜ`m` 15
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III
		  Match List – I with List – II.
		L  ist – I		L  ist – II
	 a.	 Teacher education	 I.	 Chapter 23 of NEP 2020
	 b.	 Technology use	 II.	 Chapter 20 of NEP 2020
	 c.	 Professional education	 III.	 Chapter 21 of NEP 2020
	 d.	 Adult education	 IV.	 Chapter 15 of NEP 2020
		  Choose the correct answer from  the code given below :
		  Code :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III

	 9.	 EZ.B©.nr. 2020 _| B©.gr.gr.B©. H$m AW© h¡ 
	 (A)	àma§{^H$ ~më`mdñWm H$s XoI^mb Am¡a {ejm	 (B)	 àma§{^H$ ~MnZ Ho$pÝÐV {ejm
	 (C)	~MnZ H$s CÞV {ejm Ed§ XoI^mb	 (D)	 ~MnZ H$s Hw$eb XoI^mb Ed§ {ejm
		  In NEP 2020, ECCE stands for 
	 (A)	 Early Childhood Care and Education	 (B)	 Early Childhood Centered Education
	 (C)	 Enhanced Childhood Caring and Education	 (D)	 Efficient Childhood Care and Education
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	 10.	 {ZåZ{b{IV _| go H$m¡Z EH$ ^maV _| amîQ´>r` _yë`m§H$Z Ed§ àË`m`Z n[afX (NAAC) H$m àmW{_H$ \$moH$g h¡ ?
	 (A)	N>mÌm| H$mo {dÎmr` ghm`Vm àXmZ H$aZm	 (B)	 {díd{dÚmb` àdoe narjm Am`mo{OV H$aZm
	 (C)	Cƒ {ejm g§ñWmZm| H$m àË`m`Z	 (D)	 g§ñWmZm| _| Q>çyeZ \$sg H$m {d{Z`_Z
		  Which one of the following is the primary focus of the National Assessment and Accreditation Council 

(NAAC) in India ?

	 (A)	 Providing financial aid to student	 (B)	 Conducting university entrance examinations

	 (C)	 Accreditation of higher education institutions	 (D)	 Regulating tuition fees in institutions 

	 11.	 Am{W©H$ {dH$mg Ho$ {bE PURA ÑpîQ>H$moU {ZåZ{b{IV _| go {H$gHo$ {X_mJ H$s CnO h¡ ?
	 (A)	_Z_mohZ qgh			   (B)	 E. nr. Oo. AãXþb H$bm_
	 (C)	A_Ë`© goZ			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  PURA approach to economic development is the brain child of who among the following ?

	 (A)	 Manmohan Singh			   (B)	 A. P. J. Abdul Kalam

	 (C)	 Amartya Sen			   (D)	 None of the above

	 12.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a| VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE &

	 gyMr – I 		  gyMr – II 

		  (amÁ`)		  (amîQ´>r` CÚmZ)

	 a.	amOñWmZ	 I.	 _mZg amîQ´>r` CÚmZ

	 b.	N>ÎmrgJ‹T>	 II.	 {nZ d¡br amîQ´>r` CÚmZ

	 c.	Ag_	 III.	 B§ÐmdVr amîQ´>r` CÚmZ

	 d.	{h_mMb àXoe	 IV.	 Ho$dbmXod amîQ´>r` CÚmZ

	 	 Hy$Q> :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		L  ist – I	L ist – II 

		  (State)		  (National Park)

	 a.	 Rajasthan	 I.	 Manas National Park

	 b.	 Chhattisgarh	 II.	 Pin valley National Park

	 c.	 Assam	 III.	 Indravati National Park

	 d.	 Himachal Pradesh	 IV.	 Keoladeo National Park

		  Code :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I
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	 13.	 [a`mo + 20 _ybV: {ZåZ{b{IV _| go {H$ggo gå~§{YV h¡ ?
	 (A)	Am{W©H$ {dH$mg			   (B)	 gVV² {dH$mg
	 (C)	OZg§»`m {Z`§ÌU			   (D)	 dZ g§ajU
		  Rio + 20 is mainly related to which of the following ?
	 (A)	 Economic development			   (B)	 Sustainable development
	 (C)	 Population control			   (D)	 Forest protection

	 14.	 "E.EZ.nr.Ama.' H$m Š`m AW© h¡ ?
	 (A)	ñdMm{bV ZoQ>dH©$ ßboQ> nhMmZ		 (B)	 ñdMm{bV Z§~a ßboQ> nhMmZ
	 (C)	CÝZV Z§~a ßboQ> nhMmZ			   (D)	 ñdMm{bV amîQ´>r` ßboQ> nhMmZ
		  What does ‘ANPR’ stands for ?
	 (A)	 Automatic Network Plate Recognition	 (B)	 Automatic Number Plate Recognition
	 (C)	 Advanced Number Plate Recognition	 (D)	 Automated National Plate Recognition

	 15.	 "gVV² {dH$mg' H$m {dMma {H$g df© ApñVËd _| Am`m ?
	 (A)	1972			   (B)	 1980	
	 (C)	2007			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  In which year did the idea of ‘Sustainable development’ came into existence ?
	 (A)	 1972			   (B)	 1980
	 (C)	 2007			   (D)	 None of the above

	 16.	 {ZåZ{b{IV _| go H$m¡Z EH$ J«rZhmCg J¡g h¢ ?
	 (A)	_rWoZ			   (B)	 hr{b`_	
	 (C)	hmBS´>moOZ			   (D)	 H$m~©Z _moZmoAm°ŠgmBS>
		  Which one of the following is a greenhouse gas ?
	 (A)	 Methane			   (B)	 Helium
	 (C)	 Hydrogen			   (D)	 Carbon monoxide

	 17.	 {ZåZ{b{IV _| go {H$go 2024 _| Zmo~b em§{V nwañH$ma go gå_m{ZV {H$`m J`m ?
	 (A)	_Xa Q>oaogm			   (B)	Am§J gmZ gw H$s
	 (C)	_bbm `ygw\$OB©			   (D)	 {ZhmoZ {hS>mZŠ`mo
		  Who among the following was awarded the Nobel Peace Prize 2024 ?
	 (A)	 Mother Teresa			   (B)	 Aung San Suu Kyi
	 (C)	 Malala Yousafzai			   (D)	 Nihon Hidankyo

	 18.	 {ZåZ{b{IV _| go H$m¡Z EH$ H$m±J«og ZoVm Ho${~ZoQ> {_eZ `moOZm Ho$ nyU©V: nj _| Wm ?
	 (A)	_hmË_m Jm§Yr			   (B)	 Odmha bmb Zohê$
	 (C)	gaXma nQ>ob			   (D)	 _m¡bmZm A~wb H$bm_ AmOmX

		  Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?

	 (A)	 Mahatma Gandhi			   (B)	 Jawahar Lal Nehru

	 (C)	 Sardar Patel			   (D)	 Maulana Abul Kalam Azad
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	 19.	 2005 _| bmJy hþE Š`moQ>mo àmoQ>moH$m°b H$m àmW{_H$ CÔoí` Š`m h¡ ?
	 (A)	àem§V _hmgmJa _| em§{V ñWm{nV H$aZm	 (B)	 d¡pídH$ H$m~©Z ~mOma ~ZmZm
	 (C)	_hmgmJar` àXÿfU H$mo {Z`§{ÌV H$aZm	 (D)	 J«rZhmCg J¡gm| Ho$ CËgO©Z H$mo H$_ H$aZm
		  What is the primary purpose of Kyoto protocol which came into effect in 2005 ?

	 (A)	 Establish peace in the pacific ocean	 (B)	 Create a global carbon market

	 (C)	 To regulate ocean pollution		  (D)	 To reduce the emission of greenhouse gasses

	 20.	 1857 Ho$ {dÐmoh Ho$ _w»` ZoVm
	 a.	amZr bú_r~mB©
	 b.	_§Jb nmÊS>o`
	 c.	~hmXþa emh µO\$a
	 d.	_ra {Zgma Abr

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db d, a, b	 (D)	 Ho$db c, d, b

		  Main leaders during the Revolt of 1857 

	 a.	 Rani Laxmibai

	 b.	 Mangal Pandey

	 c.	 Bahadur Shah Zafar

	 d.	 Mir Nisar Ali

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 d, a, b only	 (D)	 c, d, b only

	 21.	 J§Jm ZXr H$s Ob àdmh àUmbr Ho$ g§X^© _| {ZåZ{b{IV _| go H$m¡Z-go H$WZ ghr h¢ ?
	 a.	 ^maV _| J§Jm ZXr àUmbr g~go ~‹S>r h¡ &
	 b.	 J§Jm H$m CX²J_ CÎmaH$mer _| h¡ &
	 c.	 gVbO VWm Pob_ J§Jm àUmbr H$s ghm`H$ Z{X`m± h¢ &
	 d.	 gmoZ ZXr J§Jm Ho$ Xm{hZo VQ> H$s à_wI ghm`H$ ZXr h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :	
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, d

		  With reference to river Ganga drainage system, which of the following statements are correct ?

	 a.	 The Ganga river system is largest in India.

	 b.	 Ganga rises in the Uttarkashi.

	 c.	 Satluj and Jhelum are tributaries of Ganga system.

	 d.	 Son river is its major right bank tributary of Ganga.

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 a, c, d only	 (D)	 a, b, d only
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	 22.	 µI¡~a Xam© {ZåZ{b{IV _| go {H$g Xoe _§o pñWV h¡ ?

	 (A)	~m§½bmXoe	 (B)	 ^yQ>mZ	 (C)	 ^maV	 (D)	 nm{H$ñVmZ

		  Khyber Pass is situated in which of the following countries ?

	 (A)	 Bangladesh	 (B)	 Bhutan	 (C)	 India	 (D)	 Pakistan

	 23.	 "H$m°[aAmo{bg à^md' {ZåZ{b{IV _| go {H$gH$m n[aUm_ h¡ ?

	 (A)	_hmgmJar` YmamE±			   (B)	 n¥Ïdr H$m KyU©Z

	 (C)	dm`w_ÊS>br` Xm~ {^ÝZVmE±			   (D)	 MÝÐ_m H$m JwéËdmH$f©U qIMmd

		  ‘Coriolis effect’ is a result of which of the following ?

	 (A)	 Ocean currents			   (B)	 Earth’s rotation

	 (C)	 Atmospheric pressure differences	 (D)	 The gravitational pull of the moon

	 24.	 {H$ñQ>u H$mod|Q´>r, Omo A§Vam©îQ´>r` Amob§{nH$ g{_{V (IOC) H$s AÜ`j MwZr OmZo dmbr nhbr _{hbm ~Zr, {ZåZ{b{IV 

_| go {H$g Xoe go h¢ ?

	 (A)	{µOå~mãdo			   (B)	Am°ñQ´>o{b`m

	 (C)	~«mOrb			   (D)	 g§`wŠV amÁ` A_o[aH$m

	 	 Kirsty Coventry, who became the first woman to be elected as President of the International Olympic 

Committee (IOC) is from which of the following countries ?

	 (A)	 Zimbabwe			   (B)	 Australia

	 (C)	 Brazil			   (D)	 United States of America

	 25.	 {ZåZ{b{IV _| go H$m¡Z-gm/go amîQ´>r` OZg§»`m Zr{V, 2000 Ho$ CÔoí` h¡/h¢ ?

	 1.	 2045 VH$ OZg§»`m pñWa H$aZm &

	 2.	 _mV¥ _¥Ë`wXa H$mo 100,000 Or{dV OÝ_mo§ na 100 go ZrMo bmZm &

		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :

	 	 Hy$Q> :

	 (A)	Ho$db 1			   (B)	 Ho$db 2

	 (C)	1 Am¡a 2 XmoZm|			   (D)	 Z Vmo 1 Am¡a Z hr 2

		  Which of the following is/are the objectives of National Population Policy, 2000 ?

	 1.	 Population stabilisation by 2045.

	 2.	 Reduce maternal mortality rate to below 100 per 100,000 live birth.

		  Select the correct answer from the code given below :

		  Code :

	 (A)	 Only 1			   (B)	 Only 2

	 (C)	 1 and 2  both			   (D)	 Neither 1 nor 2
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	 26.	 {ZåZ{b{IV _| go H$m¡Z g~go à{gÕ ny±Or ~mµOma h¢ ?
	 1.	 eo`a ~mµOma
	 2.	 ~m±S> ~mµOma
	 3.	 ^maV _| {H$gr ^r {S>nm°{OQ>ar Ho$ gmW EH$ {S>nm°{OQ>ar ImVm
		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :
		  Hy$Q> :
	 (A)	Ho$db 1	 (B)	 Ho$db 1 Am¡a 3	 (C)	 Ho$db 2 Am¡a 3	 (D)	 Ho$db 1 Am¡a 2
		  Which among the following are the best known capital markets ?
	 1.	 The stock market
	 2.	 The bond markets
	 3.	 A depository account with any of the depositories in India
		  Select the correct answer from the code given below :
		  Code :
	 (A)	 Only 1	 (B)	 Only 1 and 3	 (C)	 Only 2 and 3	 (D)	 Only 1 and 2

	 27.	 ^maV _| {\$ŠH$s H$s ñWmnZm {H$gZo H$s ?
	 (A)	 Or. S>r. {~‹S>bm Ed§ Oo. Ama. S>r. Q>mQ>m	 (B)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Or. S>r. {~‹S>bm
	 (C)	_hmË_m Jm§Yr Ed§ XmXm^mB© Zm¡amoOr	 (D)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Oo. Ama. S>r. Q>mQ>m
		  Who established FICCI in India ?
	 (A)	 G. D. Birla and J. R. D. Tata 	 (B)	 Purshottamdas Thakurdas and G. D. Birla
	 (C)	 Mahatma Gandhi and Dadabhai Naoroji	 (D)	 Purshottamdas Thakurdas and J. R. D. Tata

	 28.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
	 gyMr – I				    gyMr – II

		  (A{YH$ma Ho$ àH$ma)			   	 (AZwgyMr)
	 a.	 {d{Y Ho$ g_j g_mZVm H$m A{YH$ma	 I.	 AZwgyMr – 14
	 b.	 Y_© Ho$ AmYma na ôX^md go gwajm	 II.	 AZwgyMr – 15	
	 c.	 Adga H$s g_mZVm		  	 III.	 AZwgyMr – 16
	 d.	 Añn¥í`Vm H$m A§V 		  	 IV.	 AZwgyMr – 17
		  Hy$Q> :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
		  Match List – I with List – II and select the correct answer from the code given below the lists.
	L ist – I		L  ist – II
		 (Types of Rights)				    (Article)
	 a.	 Right of equality before the law	 I.	 Article – 14
	 b.	 Protection from discrimination on religious ground	 II.	 Article – 15
	 c.	 Equality of opportunity			   III.	 Article – 16
	 d.	 Abolition of untouchability			   IV.	 Article – 17
		  Code :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
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	 29.	 bmoH$g^m H$s A{YH$V_ gXñ` g§»`m {ZYm©[aV h¡

	 	 The maximum number of members in the Lok Sabha is fixed at

	 (A)	 530	 (B)	 545	 (C)	 550	 (D)	 552

	 30.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

	  	  gyMr – I		        gyMr – II

		  (AZwgyMr)	 	 (g§d¡Ym{ZH$ àmdYmZ)

	 a.	 AZwÀN>oX 50	 I.	 amîQ́>n{V na _hm{^`moJ

	 b.	 AZwÀN>oX 143	 II.		 Ý`m`nm{bH$m Am¡a H$m ©̀nm{bH$m Ho$ ~rM n¥WŠH$aU	

	 c.	 AZwÀN>oX 61	 III.	 bmoH$ godm Am`moJ H$m H$m ©̀

	 d.	 AZwÀN>oX 320	 IV.	 gdm©oÀM Ý`m`mb` H$m gbmhH$ma joÌm{YH$ma

		  Hy$Q> :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		   List – I	  	             List – II

		  (Article)		  (Constitutional Provision)

	 a.	 Article 50	 I.	 Impeachment of the President

	 b.	 Article 143	 II.	 Separation between Judiciary and Executive

	 c.	 Article 61	 III.	 Functioning of Public Service Commission

	 d.	 Article 320	 IV.	 Advisory Jurisdiction of the Supreme Court

		  Code :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II
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	 31.	 {ZåZ{b{IV _| go H$m¡Z-gm AÝVam©îQ´>r` ~mOma Ho$ {bE J¡a-Q>¡[a\$ ~mYm h¡ ?

	 (A)	Am`mV ewëH$			   (B)	 CËnmX _mZH$

	 (C)	 {Z`m©V AZwXmZ			   (D)	 à{VH$mar ewëH$>

		  Which of the following is a non-tariff barrier to international trade ?

	 (A)	 Import duties			   (B)	 Product standards

	 (C)	 Export subsidies			   (D)	 Countervailing duties

	 32.	 {H$gr Xoe H$m ^wJVmZ g§VwbZ Š`m A{^bo{IV H$aVm h¡ ?

	 (A)	 Ho$db Xoem| Ho$ ~rM dñVwAm| d godmAm| H$m àdmh

	 (B)	 {H$gr Xoe Ho$ {Zdm{g`m| d eof {díd Ho$ ~rM g_ñV Am{W©H$ boZXoZ

	 (C)	 Ho$db Xoem| Ho$ ~rM ny±Or H$m àdmh

	 (D)	 Ho$db gaH$ma H$m amOñd d ì``>

		  The Balance of Payments of a country records 

	 (A)	 Only flow of goods and services among countries

	 (B)	 All economic transactions between residents of a country and rest of the world

	 (C)	 Only the flow of capital between countries

	 (D)	 Only the governments revenue and expenditure

	 33.	 ^maV _| àË`j {dXoer {Zdoe Xmo _mJm] go hmo gH$Vm h¡ - gaH$mar _mJ© Am¡a 

	 (A)	 ì`mnma _mJ©			   (B)	 ~¢H$ _mJ©

	 (C)	 ñdMm{bV _mJ©			   (D)	A{YH¥$V _mJ©>

		  FDI in India is allowed by two modes – Government route and 

	 (A)	 Trade route			   (B)	 Bank route

	 (C)	 Automatic route			   (D)	 Approved route

	 34.	 E{gAZ (ASEAN) X{jUnyd© E{e`m Ho$ 10 gXñ` Xoemo§ Ho$ _Ü` EH$ ì`mnma ì`dñWm h¡ {Og_| gpå_{bV Zht h¡

	 (A)	 ^maV	 (B)	 bmAmog	 (C)	 {d`VZm_	 (D)	 ~«wZoB©>

		  ASEAN is a trade arrangement among 10 member countries of Southeast Asia, which exclude

	 (A)	 India	 (B)	 Laos	 (C)	 Vietnam	 (D)	 Brunei

dm{UÁ`
Commerce

(Set I)
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	 35.	 A, B Am¡a C, 3 : 2 : 1 Ho$ AZwnmV _| bm^-hm{Z ~m±Q>Vo h¢ & `{X B ì`mnma go AbJ hmoVm h¡, Vmo A Am¡a C H$m Z`m 

bm^mZwnmV Š`m hmoJm ?

	 	 A, B and C share profit and loss in the ratio of 3 : 2 : 1. What will be the new profit sharing ratio of A and 

C, if B retires from the business ?

	 (A)	 3 : 2	 (B)	 2 : 1	 (C)	 3 : 1	 (D)	 1 : 3

	 36.	 ZrMo Xmo H$WZ {X`o J`o h¢ & EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : à_mUZ boZXoZm| Ho$ g_W©Z _| gmú`m| H$s Om§M h¡ &

	 	 VH©$ (R) : gË`mnZ H$m à`moJ VwbZmË_H$ ê$n go ~hþV hr gr{_V AW© _| {H$`m OmVm h¡ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZm§{H$V {dH$ënm| _| go ghr CÎma MwZ| :

	 (A)	 (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| ghr h¢, naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡

	 (C)	 (A) ghr h¡, naÝVw (R) JbV h¡ 

	 (D)	 (A) JbV h¡, naÝVw (R) ghr h¡>

		  Given below are two statements. One is labeled as Assertion (A) and other is labeled as Reason (R).

	 	A ssertion (A) : Vouching is the examination of evidence which is in support of transaction.

		  Reason (R) : Verification is used comparatively in very limited sense.

		  In the light of the above statements choose the correct answer from the options given below :

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

	 (C)	 (A) is correct, but (R) is not correct

	 (D)	 (A) is not correct, but (R) is correct

	 37.	 H$m¡Z-gm EH$ ì`pŠVJV ImVm Zht h¡ ?

	 (A)	 nyd©XÎm doVZ ImVm			   (B)	 ~¢H$ ImVm

	 (C)	 ñdm_r H$m ImVm			   (D)	 noQ>oÝQ> ImVm

		  Which one is not a Personal Account ?

	 (A)	 Prepaid salary account			   (B)	 Bank account

	 (C)	 Proprietor’s account			   (D)	 Patent account
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	 38.	 boIm§H$Z _| g_m_obZ go nyd© bm^ H$mo ñdrH$mam OmVm h¡ 

	 (A)	 ny±OrJV g§M`			   (B)	Am`JV g§M`

	 (C)	 JwßV g§M`			   (D)	 gm_mÝ` g§M`>

	 	 In accounting, profit prior to incorporation is treated as

	 (A)	 Capital reserve			   (B)	 Revenue reserve

	 (C)	 Secret reserve			   (D)	 General reserve

	 39.	 O~ ñWm`r bmJV é. 14,000, bm^ é. 6,000 Ed§ {~H«$s é. 1,00,000 hmo, Vmo bm^-_mÌm H$m AZwnmV hmoJm

	 	 When the fixed cost is Rs. 14,000, profit is Rs. 6,000 and sales Rs. 1,00,000 then P/V ratio will be

	 (A)	 14%	 (B)	 20%	 (C)	 25%	 (D)	 30%

	 40.	 `{X A{Ybm^m§e A§e A{YJ«hU nyd© bm^ go Omar {H$`o OmVo h¢, Vmo CgH$m Š`m à^md hmoJm ?

	 (A)	 g_o{H$V Am{W©H$ {MÆ>o na àË`j à^md

	 (B)	 g_o{H$V Am{W©H$ {MÆ>o na H$moB© à^md Zht

	 (C)	 ewÕ bm^ na H$moB© à^md Zht

	 (D)	 Cn`w©ŠV _| go H$moB© Zht>

	 	 If bonus shares are issued out of pre-acquisition profit, it will have

	 (A)	 Direct effect on the consolidated balance sheet

	 (B)	 No effect on the consolidated balance sheet

	 (C)	 No effect on net profit

	 (D)	 None of the above

	 41.	 A§em| Ho$ Omar H$aZo na àmßV àr{_`_ H$mo Am{W©H$-{MÆ>o Ho$ {ZåZ erf©H$ _| {XIm`m OmVm h¡ 

	 (A)	A§e ny±Or			   (B)	 Mmby Xm{`Ëd d àmdYmZ

	 (C)	AmH$pñ_H$ Xm{`Ëd			   (D)	 g§M` Am¡a Am{YŠ`

		  Premium received on issue of shares is shown in the Balance Sheet under the head

	 (A)	 Share Capital			   (B)	 Current liabilities and Provisions

	 (C)	 Contingent liabilities 			   (D)	 Reserves and Surplus
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	 42.	 {ZåZ{b{IV _| go H$m¡Z-gm J{V{d{Y-AmYm{aV bmJV (E.~r.gr.) H$s EH$ à_wI {deofVm Zht h¡ ?

	 (A)	 `h àmW{_H$ bmJV àoaH$ Ho$ ê$n _| àË`j l_ K§Q>m| na Omoa XoVm h¡ 

	 (B)	 `h J{V{d{Y`m| H$s nhMmZ H$aZo Am¡a CÝh| bmJV {Z{X©îQ> H$aZo na Ü`mZ XoVm h¡

	 (C)	 `h CËnmXm| Am¡a godmAm| H$s dmñV{dH$ bmJV H$mo g_PZo _| _XX H$aVm h¡ 

	 (D)	 BgH$m Cn`moJ _yë`-{ZYm©aU Am¡a CËnmX {_lU {ZU©`m| H$mo ~ohVa ~ZmZo Ho$ {bE {H$`m Om gH$Vm h¡ 

		  Which of the following is not a key characteristic of Activity Based Costing (ABC) ?

	 (A)	 It emphasises direct labour hours as the primary cost driven

	 (B)	 It focuses on identifying and assigning cost to activities

	 (C)	 It helps in understanding the real cost of products and services

	 (D)	 It can be used to improve pricing and product mix decisions

	 43.	 n{adV©Zerb bmJV Am¡a {~H«$s H$m AZwnmV 70 à{VeV h¡ & g_-{dÀN>oX {~ÝXw j_Vm {~H«$s H$m 60 à{VeV h¡ & `{X 
pñWa bmJV é 90,000 h¡, Vmo j_Vm {~H«$s hmoJr

	 (A)	 é. 3,00,000			   (B)	 é. 5,00,000

	 (C)	 é. 3,75,000			   (D)	 é.> 2,10,000

		  The ratio of variable cost to sales is 70 percent. The Break-even point occurs at 60 percent of the capacity 

sales. When fixed cost are Rs. 90,000, capacity sales will be

	 (A)	 Rs. 3,00,000			   (B)	 Rs. 5,00,000

	 (C)	 Rs. 3,75,000			   (D)	 Rs. 2,10,000

	 44.	 {Oå_oXmar boIm§H$Z H$s AdYmaUm Ho$ g§~§Y _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ JbV h¡ ?

	 (A)	 Bg_| EH$ g§JR>Z Ho$ ^rVa {Oå_oXmar Ho$ÝÐm| H$s nhMmZ gpå_{bV h¡ &

	 (B)	 `h ì`pŠVJV à~§YH$m| Ho$ àXe©Z Ho$ _yë`m§H$Z na Ho$pÝÐV h¡ &

	 (C)	 `h {ZînmXZ _yë`m§H$Z Ho$ {bE Eo{Vhm{gH$ bmJV S>oQ>m Ho$ Cn`moJ na Omoa XoVm h¡ &

	 (D)	 BgH$m CÔoí` n{aMmbZ Ho$ {Z`§ÌU Am¡a XjVm _| gwYma H$aZm h¡ &

		  Which of the following statement is incorrect regarding the concept of responsibility accounting ?

	 (A)	 It involves the identification of responsibility centres within an organisation.

	 (B)	 It focuses on evaluating the performance of individual managers.

	 (C)	 It emphasises the use of historical cost data for performance evaluation.

	 (D)	 It aim to improve the control and efficiency of operations.
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	 45.	 AÝVam©îQ́>r` H$s_V-{d ôXrH$aU _| H$m¡Z-go àH$ma H$s bmoM Ah_ ŷ{_H$m AXm H$aVr h¡ ?

	 (A)	 _m§J H$s H$s_V bmoM			   (B)	 _m§J H$s Am` bmoM

	 (C)	 _m§J H$s nañna bmoM			   (D)	 _m§J H$s {dkmnZ bmoM

		  Which type of elasticity plays a crucial role in International Price-Discrimination ?

	 (A)	 Price elasticity of demand		 (B)	 Income elasticity of demand

	 (C)	 Cross elasticity of demand	 (D)	 Advertising elasticity of demand

	 46.	 {ZåZ{b{IV _| go {H$g ~mOma g§aMZm _| A{VaoH$ j_Vm XoIr OmVr h¡ ?

	 (A)	 nyU© ñnYm©			   (B)	 EH$m{YH¥$V ñnYm©

	 (C)	Aënm{YH$ma			   (D)	 EH$m{YH$ma

		  Excess capacity is noticed in which of the following market structures ?

	 (A)	 Perfect competitions			   (B)	 Monopolistic competitions

	 (C)	 Oligopoly			   (D)	 Monopoly

	 47.	 {ZåZ{b{IV H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE :

	 I.	 nVZ

	 II.	 _§Xr

	 III.	 VoOr

	 IV.	 gwYma

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :  >
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II	

	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV

		  Arrange the following steps in a sequence :

	 I.	 Slump

	 II.	 Recession

	 III.	 Boom

	 IV.	 Recovery

		  Choose the correct answer from the code given below :

		  Code :

	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II

	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV
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	 48.	 BZ_| go H$m¡Z-gm _m§J Ho$ {Z`_ H$m AndmX Zht h¡ ?

	 (A)	 `wÕ			   (B)	 {J\o$Z-{damoYm^mg

	 (C)	 àXe©Z			   (D)	 _wÐmñ\$s{V

		  Which is not an exception to the law of demand ?

	 (A)	 War			   (B)	 Giffen Paradox

	 (C)	 Demonstration	 	 	 (D)	 Inflation

	 49.	 ~mø Ab§H$aU à{V~§{YV h¡ 

	 (A)	 ê${‹T>dm{XVm H$s AdYmaUm			   (B)	 àH$Q>rH$aU H$s AdYmaUm

	 (C)	 ^m¡{VH$Vm H$s AdYmaUm			   (D)	 ~hr ImVm| H$m ~H$m`m

		  Window dressing is prohibited due to

	 (A)	 Conservation convention			  (B)	 Convention of disclosure

	 (C)	 Convention of materiality			  (D)	 Arrear of book accounts

	 50.	 CXmgrZ dH«$ {díbofU Ho$ AZwgma, Xmo nyU© ñWmZmnÞ dñVwAm| Ho$ ~rM gr_mÝV à{VñWmnZ Xa hmoJr 

	 (A)	 ~‹T>Vr hþB©			   (B)	 KQ>Vr hþB©

	 (C)	 pñWa			   (D)	 eyÝ`

		  As per the indifference curve analysis, the marginal rate of substitution between two perfect substitutes 

will be

	 (A)	 Increasing			   (B)	 Decreasing

	 (C)	 Constant			   (D)	 Zero

	 51.	 {ZåZ{b{IV _| go {H$g _yë` {ZYm©aU aUZr{V _| {H$gr CËnmX Ho$ {bE Cƒ àma§{^H$ _yë` {ZYm©{aV H$aZm Am¡a {\$a 
Yrao-Yrao g_` Ho$ gmW Bgo H$_ H$aZm em{_b h¡ ?

	 (A)	 nrH$ bmoS> _yë` {ZYm©aU			   (B)	 _yë` n¡R>

	 (C)	 _yë` pñH${_§J			   (D)	 bmJV-ßbg _yë` {ZYm©aU

		  Which of the following pricing strategies involves setting a high initial price for a product and then gradually 

lowering it over time ?

	 (A)	 Peak load pricing			   (B)	 Price penetration

	 (C)	 Price skimming			   (D)	 Cost-plus pricing
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	 52.	 g_-{dÀN>oX {~ÝXw H$s Š`m {deofVm Zht h¡ ?

	 (A)	 H$moB© hm{Z Am¡a bm^ Zht		

	 (B)	 Hw$b Am` Hw$b bmJV Ho$ ~am~a

	 (C)	A{^XmZ ñWm`r bmJV Ho$ ~am~a

	 (D)	A{^XmZ ñWm`r bmJV go H$_ 

		  Which is not the characteristic of Break-even Point (BEP) ?

	 (A)	 No loss and no profit

	 (B)	 Total revenue is equal to total cost

	 (C)	 Contribution is equal to fixed cost

	 (D)	 Contribution is less than fixed cost

	 53.	 {ZåZ{b{IV _| go H$m¡Z-gm H§$nZr H$s AZwHy$bV_ ny±Or g§aMZm H$m EH$ _hËdnyU© {ZYm©aH$ Zht h¡ ?

	 (A)	 H§$nZr H$m Mmby AZwnmV		

	 (B)	 H§$nZr H$s F$U bmJV

	 (C)	 H§$nZr H$s A§e bmJV		

	 (D)	 H§$nZr H$s H$a Xa

		  Which of the following is not a key determinant of a company’s optimal capital structure ?

	 (A)	 The company’s current ratio

	 (B)	 The company’s cost of debt

	 (C)	 The company’s cost of equity

	 (D)	 The company’s tax rate

	 54.	 {ZåZ{b{IV _| go H$m¡Z-gm H$m`©erb ny±Or H$m KQ>H$ Zht h¡ ?

	 (A)	 ah{V`m			   (B)	 àmß` ImVo

	 (C)	 g§`§Ì d CnH$aU			   (D)	 Xo` ImVo

		  Which of the following is not a component of working capital ?

	 (A)	 Inventory			   (B)	 Receivable accounts

	 (C)	 Plant and equipment			   (D)	 Payable accounts
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	 55.	 {dÎmr` CÎmmobZ H$m _mnZ hmoVm h¡

	
(A)

	 B©.E.AmB©.Q>r. 
Ûmam

  B©.~r.Q>r.

			 
(B)

	 B©.~r.AmB©.Q>r. 
Ûmam

   B©.E.Q>r.

	
(C)

	 B©.~r.AmB©.Q>r. 
Ûmam

   B©.~r.Q>r.

			   (D)	 BZ_| go H$moB© Zht

		  Financial leverage is measured by

	 (A)	
EAIT

EBT
			   (B)	

EBIT
EAT

	 (C)	
EBIT

EBT
			   (D)	 None of these

	 56.	 `{X g_Vm A§em| na à{V A§e Am` 1.5 hmo VWm A§em| H$m ~mOma _yë` é. 15 hmo, Vmo ny±Or H$s bmJV hmoJr 

	 (A)	 10%			   (B)	 9%

	 (C)	 11%			   (D)	 BZ_| go H$moB© Zht

		  If earning per share on equity shares is 1.5 and market value of shares is Rs. 15, then cost of capital  

will be

	 (A)	 10%			   (B)	 9%

	 (C)	 11%			   (D)	 None of these

	 57.	 n{aMmbZ CÎmmobZ {H$gHo$ _Ü` gå~ÝY H$mo _mnVm h¡ ? 

	 (A)	 {~H«$s amOñd Am¡a CËnmXZ H$s bmJV

	 (B)	 {~H«$s amOñd Am¡a B©.~r.AmB©.Q>r.

	 (C)	 {~H«$s amOñd Am¡a B©.~r.Q>r.

	 (D)	 B©.~r.AmB©.Q>r. Am¡a CËnmXZ H$s bmJV

		  Operating leverage measures the relationship between

	 (A)	 Sales revenue and cost of production

	 (B)	 Sales revenue and EBIT

	 (C)	 Sales revenue and EBT

	 (D)	 EBIT and cost of production
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	 58.	 ny±Or T>m±Mm AmXe© hmoVm h¡ O~ 

	 (A)	 ny±Or H$s bmJV H$_ hmo		

	 (B)	 ì`dgm` H$s bm^Xm`H$Vm A{YH$ hmo

	 (C)	 bm^Xm`H$Vm d bmJV XmoZm| A{YH$ hmo		

	 (D)	 Cn`w©ŠV (A) VWm (B) XmoZm|

		  Capital structure is ideal when

	 (A)	 Cost of capital is minimum

	 (B)	 Profitability of the business maximise

	 (C)	 Profitability and cost both are maximum

	 (D)	 Both (A) and (B) of the above

	 59.	 {ZåZ{b{IV _| go H$m¡Z-gm Ho$ÝÐr` gr_m à_o` H$s _mÝ`Vm Zht h¡ ?

	 (A)	 Z_yZm AmH$ma n`m©ßV ê$n go ~‹S>m h¡ (n ≥ 30)

	 (B)	 OZg§»`m gm_mÝ` ê$n go {dV[aV h¡ 

	 (C)	 Z_yZo ñdV§Ì h¢ 

	 (D)	 OZg§»`m {dMaU kmV h¡ 

		  Which of the following is not an assumption of the central limit theorem ?

	 (A)	 The sample size is sufficiently large (n ≥ 30)

	 (B)	 Population is normally distributed

	 (C)	 Samples are independent

	 (D)	 The population variance is known

	 60.	 "KZËd {d{Y' H$m à`moJ _______  Ho$ AmJUZ _| hmoVm h¡ &

	 (A)	 ~hþbH$			   (B)	 _mpÜ`H$m

	 (C)	 _mÜ`			   (D)	 BZ_| go H$moB© Zht

		  ‘Density Method’ is applied in computing 

	 (A)	 Mode			   (B)	 Median

	 (C)	 Mean			   (D)	 None of these

	 61.	 {H$gr gmYmaU ê$n go {df_ {dVaU _| à_mU {dMbZ, _mÜ` {dMbZ Ho$ ______ Ho$ ~am~a hmoVm h¡ & 

		  In a moderately asymmetrical distribution the standard deviation is equal to _____ of mean deviation.

	 (A)	 4/5	 (B)	 5/4	 (C)	 2/3	 (D)	 3/2
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	 62.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &

			   gyMr – I		  gyMr – II

	 a.	 g§nyU©	 I.	Am¡gV

	 b.	 g_§H$	 II.	 OZg§»`m

	 c.	 _mÜ`	 III.	A{YH$V_

	 d.	 ~hþbH$	 IV.	 gyMZm

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 a – III, b – IV, c – I, d – II			  (B)	 a – II, b – III, c – IV, d – I
	 (C)	 a – II, b – IV, c – I, d – III			  (D)	 a – II, b – III, c – I, d – IV

		  Match List – I with List – II.

		L  ist – I		L  ist – II

	 a.	 Universe	 I.	 Average

	 b.	 Data	 II.	 Population

	 c.	 Mean	 III.	 Maximum

	 d.	 Mode	 IV.	 Information
		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 a – III, b – IV, c – I, d – II			  (B)	 a – II, b – III, c – IV, d – I
	 (C)	 a – II, b – IV, c – I, d – III			  (D)	 a – II, b – III, c – I, d – IV

	 63.	 ZrMo Xmo H$WZ {X`o J`o h¢ & EH$ H$mo A{^H$WZ (A) Am¡a Xygao H$mo VH©$ (R) H$hm J`m h¡ &

	 	 A{^H$WZ (A) : dU©ZmË_H$ gm§p»`H$s g_§H$ g§J«h, àñVw{V, {díbofU Am¡a ì`m»`m H$m Cn`moJ H$aVr h¡ &

		  VH©$ (R) : AmZw_m{ZH$ gm§p»`H$s, g§^mì`Vm à{VM`Z nydm©Zw_mZ {gÕm§Vm| H$m Cn`moJ H$aVr h¡ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZm§{H$V {dH$ënm| _| go ghr CÎma MwZ| &
	 (A)	 (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| ghr h¢, naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡ 
	 (C)	 (A) ghr h¡, naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡, naÝVw (R) ghr h¡
		  Given below are two statements. One is labeled as Assertion (A) and other is labeled as Reason (R).
		  Assertion (A) : Descriptive statistics uses data collection, presentation, analysis and interpretation.
	 	R eason (R) : Inferential statistics uses probability sampling, forecasting theories.

		  In the light of the above statements choose the correct answer from the options given below.
	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
	 (C)	 (A) is correct, but (R) is not correct
	 (D)	 (A) is not correct, but (R) is correct
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	 64.	 JbV CÎmam| H$m MwZ| :

	 a.	 ~hþbH$ = 3 _mÜ` – 2 _mpÜ`H$m

	 b.	 ~hþbH$ = 3 _mpÜ`H$m – 2 _mÜ`

	 c.	 ~hþbH$ = 2 _mÜ` + 1 _mpÜ`H$m

	 d.	 ~hþbH$ = 3 _mpÜ`H$m + 2 _mÜ`

		  ZrMo {XE JE {dH$ënm|> go ghr CÎma Mw{ZE :

	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a, b, d	 (D)	 Ho$db a, c, d

		  Select the wrong answers : 

	 a.	 Mode = 3 mean – 2 median

	 b.	 Mode = 3 median – 2 mean

	 c.	 Mode = 2 mean + 1 median

	 d.	 Mode = 3 median + 2 mean

		  Choose the correct answer from the options given below :

	 (A)	 Only a, b, c	 (B)	 Only b, c, d	 (C)	 Only a, b, d	 (D)	 Only a, c, d

	 65.	 {H$gr loUr Ho$ g_m§Va _mÜ` go {bE J`o {dMbZm| H$m `moJ hmoVm h¡ 

	 (A)	 eyÝ`			   (B)	 YZmË_H$

	 (C)	 F$UmË_H$			   (D)	 Cn`w©ŠV _| go H$moB© Zht

		  The sum of deviations taken from the arithmetic means of a series is 

	 (A)	 Zero			   (B)	 Positive

	 (C)	 Negative			   (D)	 None of the above

	 66.	 52 nÎmm| H$s Vme H$s JÈ>r _| go EH$ nÎmm ItMZo na CgHo$ ~mXemh hmoZo H$s g§^mdZm h¡ 

		  What is the chance of drawing a King in a draw from a pack of 52 cards ?

	 (A)	 52	 (B)	 1
12 	 (C)	

1
13 	 (D)	

1
14

	 67.	 H$mb© {n`g©Z ar{V H$m à{VnmXZ hþAm Wm 

	 (A)	 1890	 (B)	 1980	 (C)	 1900	 (D)	 BZ_| go H$moB© Zht

		  Karl Pearson method was propounded in

	 (A)	 1890	 (B)	 1980	 (C)	 1900	 (D)	 None of these
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	 68.	 ì`pŠV H$s g_ñ`m-g_mYmZ gå~ÝYr j_Vm H$mo {dH${gV H$aZo H$s gdm©{YH$ Cn`wŠV à{ejU {d{Y h¡ 

	 (A)	 ^y{_H$m {Zdm©h			   (B)	 gå_obZ

	 (C)	 à`moJembm à{ejU			   (D)	 _m_bmnyaH$ AÜ``Z

		  The most suitable training method for developing person’s problem-solving ability is

	 (A)	 Role playing			   (B)	 Conference

	 (C)	 Laboratory training			   (D)	 Case study

	 69.	 g§JR>Z Ho$ {bE _mZd g§gmYZ H$s bmJV VWm _yë` H$m _mnZ gå~pÝYV h¡

	 (A)	 _mZd g§gmYZ boIm§H$Z go			   (B)	 gm_m{OH$ boIm§H$Z go

	 (C)	 {dÎmr` boIm§H$Z go			   (D)	 _mZd g§gmYZ A§Ho$jU go

		  Measuring cost and value of human resource for organisation is related to

	 (A)	 Human Resource Accounting	 (B)	 Social Accounting

	 (C)	 Financial Accounting			   (D)	 Human Resource Audit

	 70.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE &

	 I.	 _Zmo{díbofUmË_H$ {gÕm§V 

	 II.	 AmË_ AdYmaUm {gÕm§V 

	 III.	 JwU {gÕm§V 

	 IV.	 gm_mOrH$aU {gÕm§V 

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II

	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV

		  Arrange the following steps in a sequence.

	 I.	 Psychoanalytic Theory

	 II.	 Self-concept Theory

	 III.	 Trait Theory

	 IV.	 Socialisation Theory

		  Choose the correct answer from the code given below :

		  Code :

	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II

	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV
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	 71.	 gyMr - i H$mo gyMr - iI Ho$ gmW gw_o{bV H$a| &

		  gyMr – I		  gyMr – II

	 a.	 {gÕmÝV Z	 i.	 hO©~J©

	 b.	 g_Vm {gÕmÝV	 ii.	 Oo. ñQ>ogr ES>åg

	 c.	 {Û KQ>H$ {gÕmÝV	 iii.	 ~«y_

	 d.	 àË`mem {gÕmÝV	 iv.	 {d{b`_ Or. AmCMr

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 a – iv, b – II, c – I, d – III			  (B)	 a – I, b – II, c – III, d – IV
	 (C)	 a – II, b – I, c – III, d – IV			  (D)	 a – IV, b – I, c – II, d – III

		  Match List – I with List – II.
		L  ist – I		L  ist – II
	 a.	 Theory Z	 i.	 Herzberg
	 b.	 Equity theory	 ii.	 J. Stacy Adams
	 c.	 Two factor theory	 iii.	 Broom
	 d.	 Expectancy theory	 iv.	 William G. Ouchi
		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 a – iv, b – II, c – I, d – III			  (B)	 a – I, b – II, c – III, d – IV
	 (C)	 a – II, b – I, c – III, d – IV			  (D)	 a – IV, b – I, c – II, d – III

	 72.	 ãboH$ Am¡a _mCQ>Z Ho$ à~§YH$s` {J«S> Ho$ AZwgma {H$g ZoV¥Ëd e¡br _| bmoJm| Ho$ {bE A{YH$ {M§Vm Am¡a CËnmXZ Ho$ {bE 
H$_ {M§Vm H$s {deofVm h¡ ?

	 (A)	 àm{YH$aU AZwnmbZ à~§YZ			  (B)	 H§$Q´>r Šb~ à~§YZ

	 (C)	 Jar~ à~§YZ			   (D)	 Q>r_ à~§YZ

		  Which leadership style is characterised by high concern for people and low concern for production, according 
to black and Mouton’s managerial grid ?

	 (A)	 Authority compliance management	 (B)	 Country club management
	 (C)	 Impoverished management	 (D)	 Team management

	 73.	 {H$g g§Kf© à~ÝYZ e¡br _| CÀM _wIaVm Am¡a H$_ gh`moJ H$s {deofVm hmoVr h¡ ?

	 (A)	 à{VñnYm©			   (B)	 gh`moJ	

	 (C)	 nahoO			   (D)	 gpå_bZ

	 	 Which conflict management style is characterised by high assertiveness and low cooperativeness ?

	 (A)	 Competing			   (B)	 Collaborating

	 (C)	 Avoiding			   (D)	 Accommodating
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	 74.	 ì`dhma {díbofU H$s VH$ZrH$ {H$gZo {dH${gV H$s Wr ?

	 (A)	 EëQ>Z _m`mo			   (B)	 nrQ>a S´>H$a

	 (C)	 E[aH$ ~Zu			   (D)	 ES>_ pñ_W

		  Who developed the techniques of transactional analysis ?

	 (A)	 Elton Mayo			   (B)	 Peter Drucker

	 (C)	 Eric Berni			   (D)	 Adam Smith

	 75.	 {ZåZ{b{IV _| go H$m¡Z ^Vu H$m AmÝV[aH$ òmoV Zhr§ h¡ ?

	 (A)	 nXmoÝZ{V d ñWmZmÝVaU			   (B)	 nyd© Ho$ H$_©Mmar

	 (C)	 R>oHo$Xma Ed§ Xbmb			   (D)	 godm {dñVma

		  Which of the following is not internal source of recruitment ?

	 (A)	 Promotion and transfer			   (B)	 Former employees

	 (C)	 Contractors and jobbers			   (D)	 Extension of services

	 76.	 amîQ´>r` J«m_rU amoOJma Jma§Q>r A{Y{Z`_ nm[aV {H$`m J`m 

		  National Rural Employment Guarantee Act was enacted in

	 (A)	 2004	 (B)	 2005	 (C)	 2001	 (D)	 2006

	 77.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE &

	 I.	 ñZoh Ed§ AnZmnZ H$s Amdí`H$VmE±

	 II.	 gå_mZ H$s Amdí`H$VmE±

	 III.	 gwajm H$s Amdí`H$VmE±

	 IV.	 emar[aH$ Amdí`H$VmE±

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 IV, III, I, II

		  Arrange the following steps in a sequence.
	 I.	 Needs of love and belongingness
	 II.	 Esteem needs
	 III.	 Security needs
	 IV.	 Physiological needs
		  Choose the correct answer from the code given below :
		  Code :

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 IV, III, I, II
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	 78.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE &
	 I.	 g_ñ`mAm| H$mo {MpÝhV H$aZm
	 II.	 {dH$ënm| H$m MwZmd
	 III.	 {dH$ënm| H$m _yë`m§H$Z
	 IV.	 {dH$ënm| H$s ImoO
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
		  Arrange the following steps in a sequence.
	 I.	 Identification of problems
	 II.	 Choice of alternatives
	 III.	 Evaluation of alternatives
	 IV.	 Search for alternatives
		  Choose the correct answer from the code given below :
		  Code :

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 79.	 gyMr - I H$mo gyMr - II Ho$ gmW gw_o{bV H$s{OE &

		  gyMr – I		  gyMr – II

	 a.	 {Z`moOZ	 I.	 A{YH$ma Ed§ CÎmaXm{`Ëd _| gå~ÝY ñWm{nV H$aZm

	 b.	 g§JR>Z	 II.	 {ZU©̀  boZm Ed§ `moOZm ~ZmZm

	 c.	 {ZX}eZ	 III.	 dmñV{dH$ H$m ©̀ H$m nyd©-{ZYm©[aV _mZH$m| go VwbZm H$aZm

	 d.	 {Z`ÝÌU	 IV.	 AYrZñWm| H$mo {ZX}e XoZm

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 a – I, b – III, c – II, d – IV			  (B)	 a – II, b – I, c – IV, d – III

	 (C)	 a – III, b – II, c – I, d – IV		 	 (D)	 a – IV, b – III, c – II, d – I

		  Match List – I with List – II.
		L  ist – I		L  ist – II
	 a.	 Planning	 I.	 Making relations in authority and responsibility
	 b.	 Organising 	 II.	 Planning and decision making
	 c.	 Directing	 III.	 To compare actual work with pre-determined standards
	 d.	 Controlling	 IV.	 Direction to sub-ordinates
		  Choose the correct answer from the code given below :
		  Code :

	 (A)	 a – I, b – III, c – II, d – IV		 	 (B)	 a – II, b – I, c – IV, d – III

	 (C)	 a – III, b – II, c – I, d – IV			  (D)	 a – IV, b – III, c – II, d – I
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	 80.	 Ama. ~r. AmB©. H$m¡Z-gm H$m`© Zht H$aVm ?

	 (A)	 gmI {Z`§ÌU			   (B)	 {dXoer _wÐm H$m g§ajU

	 (C)	 {H$gmZm| H$mo grYo F$U XoZm			   (D)	 ~¢H$mo§ Ho$ ~¢H$ Ho$ ê$n _| H$m`© H$aZm

		  Which one is not the work of RBI ?
	 (A)	 Credit control			   (B)	 Custodian of Foreign Currency
	 (C)	 Lending money directly to farmers	 (D)	 Banker’s Bank

	 81.	 Ho$ÝÐr` ghH$mar ~¢H$ {ZåZ ñVa na H$m`© H$aVm h¡ 

	 (A)	 amîQ´>r` ñVa			   (B)	 amÁ` ñVa

	 (C)	 joÌr` ñVa			   (D)	 {Obm ñVa>

		  Central Co-operative Bank works at

	 (A)	 National level			   (B)	 State level

	 (C)	 Regional level			   (D)	 District level

	 82.	 joÌr` J«m_rU ~¢H$ Ho$ g§MmbH$ _ÊS>b _| Hw$b {H$VZo gXñ` hmoVo h¢ ?
		  How many members are there in managing committee of RRB ?

	 (A)	 6	 (B)	 8	 (C)	 9	 (D)	 15

	 83.	 {ZåZ H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE &

	 I.	 `y.Q>r.AmB©. å`yMwAb \$ÊS>

	 II.	 `y.Q>r.AmB©.

	 III.	 Eg.~r.AmB©. å`yMwAb \$ÊS>

	 IV.	 \«¢$H${bZ Q>oåboQ>Z EgoQ> _¡ZoO_|Q> B§{S>`m

		  ZrMo {X`o JE Hy$Q> _| go ghr CÎma Mw{ZE :

	 	 Hy$Q> :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

		  Arrange the following steps in a sequence.

	 I.	 UTI Mutual Fund

	 II.	 UTI

	 III.	 SBI Mutual Fund

	 IV.	 Franklin Templeton Asset  Management India

		  Choose the correct answer from the code given below :

	 	 Code :

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
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	 84.	 ZrMo Xmo H$WZ {XE JE h¢ & EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : ì`mnm[aH$ ~¢H$m| H$m AnZo YZ Ho$ {d{Z`moJ H$m EH$ _hËdnyU© joÌ F$U Ed§ A{J«_ am{e h¡ &
		  VH©$ (R) : gmI H$m {Z_m©U H$aHo$ ^r ì`mnm[aH$ ~¢H$ AnZo H$mofm| H$s d¥{Õ H$aVm h¡ &
		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZm§{H$V {dH$ënm| _| go ghr CÎma MwZ| &

	 (A)	 (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| ghr h¢, naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡

	 (C)	 (A) ghr h¡, naÝVw (R) JbV h¡ 

	 (D)	 (A) JbV h¡, naÝVw (R) ghr h¡ 

		  Given below are two statements. One is labelled as Assertion (A) and other is labelled as Reason (R).

		  Assertion (A) : Loan and advances comprise the important areas of the investment of their money by 
Commercial Banks.

		  Reason (R) : Commercial Bank increase their fund also by creating credit.

		  In the light of the above choose the correct answer from the options given below.

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

	 (C)	 (A) is correct, but (R) is not correct

	 (D)	 (A) is not correct, but (R) is correct

	 85.	 ZrMo Xmo H$WZ {XE JE h¢ & EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : ^maVr` [aOd© ~¢H$ H$m Ho$ÝÐr` H$m`m©b` ZB© {Xëbr _| h¡ &
		  VH©$ (R) : gmI H$m {Z`§ÌU H$aZm [aOd© ~¢H$ H$m Ho$ÝÐr` ~¢qH$J H$m`© h¡ &
		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZ{b{IV {dH$ënm| _| go ghr CÎma MwZ| &

	 (A)	 (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| ghr h¢, naÝVw (R), (A) H$s ghr ì`m»`m Zhr§ h¡

	 (C)	 (A) ghr h¡, naÝVw (R) JbV h¡ 

	 (D)	 (A) JbV h¡, naÝVw (R) ghr h¡ 

		  Given below are two statements. One is labelled as Assertion (A) and other is labelled as Reason (R).

		  Assertion (A) : The Central Office of Reserve Bank of India is in New Delhi.
		  Reason (R) : Control of credit is the Central Banking function of Reserve Bank.	

		  In the light of the above choose the correct answer from the options given below.

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

	 (C)	 (A) is correct, but (R) is not correct

	 (D)	 (A) is not correct, but (R) is correct
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	 86.	 ~mOma àdoeH$ _yë` {ZYm©aU h¡

	 (A)	 EH$ hr CËnmX H$mo Xmo {^ÝZ {^ÝZ H$s_Vm| na ~oMZm

	 (B)	 àmapå^H$ C{MV _yë`

	 (C)	 àmapå^H$ CÀM _yë`

	 (D)	 àmapå^H$ {ZåZ _yë`

		  Market penetration pricing is

	 (A)	 Selling same product at two different prices

	 (B)	 Initial fair price

	 (C)	 Initial high price

	 (D)	 Initial low price

	 87.	 nm±M AdñWmAm| dmbr Cn^moŠVm H«$` {ZU©`Z à{H«$`m _| em{_b Zht h¡ 

	 (A)	 g_ñ`m H$s nhMmZ H$aZm			   (B)	 gm_m{OH$ KQ>H$

	 (C)	 {dH$ënm| H$m _yë`m§H$Z			   (D)	 H«$` {ZU©`>

		  Five stages of consumers buying decision making process does not include

	 (A)	 Problem recognition			   (B)	 Social factors

	 (C)	 Evaluation of alternatives		  (D)	 Purchase decision

	 88.	 ‘IDIC’ CRM à{Vê$n _| ‘D’ H$m VmËn`© h¡

	 (A)	 {ZX}eZ$ H$aZm			   (B)	 {dM{bV H$aZm 

	 (C)	 {d^oXrH$aU			   (D)	 n[a^mfZ

		  In ‘IDIC’ CRM model ‘D’ stands for

	 (A)	 Directing			   (B)	 Diverting

	 (C)	 Differentiating	 	 	 (D)	 Defining

	 89.	 _Zmod¥{Îm Ho$ {Ì-KQ>H$ _m°S>b H$m nhbm KQ>H$ h¡ 

	 (A)	 {H«$`mË_H$			   (B)	 ^mdmË_H$

	 (C)	 aMZmË_H$			   (D)	 g§kmZmË_H$>

	 	 The first component of the tri-component model of attitude is

	 (A)	 Conative			   (B)	 Affective

	 (C)	 Creative	 		  (D)	 Cognitive
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	 90.	 {ZåZ{b{IV _| go H$m¡Z-gm H¥${f AmJ_ Zht h¡ ? 

	 (A)	 Q´>oŠQ>a			   (B)	 ~rO

	 (C)	 H$sQ>ZmeH$			   (D)	 Cn`w©ŠV _| go H$moB© Zht>

		  Which of the following is not an agricultural input ?

	 (A)	 Tractor			   (B)	 Seed

	 (C)	 Pesticide			   (D)	 None of the above

	 91.	 godm JwUdÎmm _m°S>b Ho$ AZwgma, {ZåZ{b{IV _| go H$m¡Z-gm godm Ho$ JwUdÎmm H$m {ZYm©aH$ Zht h¡ ?

	 (A)	 _yV©			   (B)	 g_mZw^y{V

	 (C)	AZwê$nVm JwUdÎmm			   (D)	AZw{H«$`merbVm

		  As per the Service Quality Model, which of the following is not a determinant of service quality ?

	 (A)	 Tangibles			   (B)	 Empathy

	 (C)	 Conformance quality			   (D)	 Responsiveness

	 92.	 CËnmX {_Šg H$mo à^m{dV Z H$aZo dmbm KQ>H$ h¡

	 (A)	 {dnUZ			   (B)	 CËnmX

	 (C)	 {dÎmr`			   (D)	A§eYmaH$

		  The factor not affecting product mix are

	 (A)	 Marketing			   (B)	 Production

	 (C)	 Financial			   (D)	 Shareholders

	 93.	 {dkmnZ Ho$ CÔoí`m| _| gpå_{bV Zht h¡ 

	 (A)	 J«mhH$m| H$mo OmZH$mar XoZm	

	 (B)	 ÑpîQ>H$moU _| n[adV©Z bmZm

	 (C)	 OmJê$H$Vm ~‹T>mZm		

	 (D)	 _Zmoa§OZ H$aZm

		  Advertising objectives does not include

	 (A)	 Informing consumers	

	 (B)	 Changing attitudes

	 (C)	 Developing awareness

	 (D)	 Making entertainment
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	 94.	 {ZåZ{b{IV _| go H$m¡Z-gm {dVaU dm{hH$mAm| H$m H$m`© Zht h¡ ?

	 (A)	 CËnmXZ H$m à~ÝY H$aZm			   (B)	 {dÎm H$m à~ÝY H$aZm

	 (C)	 g§dY©Z {H«$`mE± H$aZm			   (D)	 _yë` {ZYm©aU H$aZm

		  Which of the following is not the function of channels of distribution ?

	 (A)	 Managing production	 	 	 (B)	 Managing finances

	 (C)	 Promotional activities			   (D)	 Pricing

	 95.	 {ZåZ{b{IV _| go H$m¡Z-gm O_mZVr H$m A{YH$ma Zht h¡ ?

	 (A)	 à{VñWmnZ H$m A{YH$ma			   (B)	 {ZañV H$aZo H$m A{YH$ma

	 (C)	 Xmdm aÔ H$aZo H$m A{YH$ma			   (D)	 j{Vny{V© H$m A{YH$ma

		  Which of the following is not a Right of Surety ?

	 (A)	 Right of subrogation			   (B)	 Right to revoke

	 (C)	 Right to claim set off			   (D)	 Right to claim indemnity

	 96.	 {ZåZ{b{IV _| go H$m¡Z-gm gå`H$ AZwH«$_ _| YmaH$ H$s `mo½`Vm Zht h¡ ?

	 (A)	 dh YmaH$ hmoZm Mm{hE

	 (B)	 dh {~Zm à{V\$b Ho$ YmaH$ hmoZm Mm{hE

	 (C)	 dh gX²^mdZmnyd©H$ YmaH$ hmoZm Mm{hE 

	 (D)	 BZ_| go H$moB© Zht

	 	 Which of the following is not a qualification of holder in due-course ?

	 (A)	 He must be a holder

	 (B)	 He must be a holder without consideration

	 (C)	 He must have become holder in good faith

	 (D)	 None of these

	 97.	 g{Md AnZo {Z`wpŠV Ho$ H«$_ _| kmV hþE ì`mnm[aH$ ahñ`m| H$m àH$Q>Z Zht H$a gH$Vm, `h CgH$m __________ h¡ &

	 (A)	 gm§{d{YH$ Xm{`Ëd			   (B)	 g§{dXmJV Xm{`Ëd

	 (C)	 {d{YH$ Xm{`Ëd			   (D)	A{^H$aU g§{dXm Ho$ VhV Xm{`Ëd

		  Secretary cannot reveal trade secrets which he comes to know during his course of employment is 

	 (A)	 Statutory liabilities			   (B)	 Contractual liabilities

	 (C)	 Legal liabilities			   (D)	 Liabilities under agency contract
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	 98.	 Ap½ZnW `moOZm _| A§eXmZ Ho$ gå~ÝY _| H$Q>m¡Vr {H$g_| h¡ ?

	 (A)	 Ymam 80 CCA			   (B)	 Ymam 80 CCH

	 (C)	 Ymam 80 CCG			   (D)	 Ymam 80 CCJ

		  Deduction in respect of contribution to Agnipath Scheme is in

	 (A)	 Sec. 80 CCA			   (B)	 Sec. 80 CCH

	 (C)	 Sec. 80 CCG			   (D)	 Sec. 80 CCJ

	 99.	 J¡a-gaH$mar H$_©Mm[a`m| H$m _Zmoa§OZ ^Îmm

	 (A)	 nyU©V: H$a_wŠV hmoVm h¡

	 (B)	 nyU©V: H$a`mo½` hmoVm h¡

	 (C)	Am§{eH$ ê$n go H$a`mo½` hmoVm h¡ 

	 (D)	Am§{eH$ ê$n go Hw$N> joÌm| _| H$a`mo½` hmoVm h¡ 

		  Entertainment allowance for non-government employees are

	 (A)	 Fully exempted

	 (B)	 Fully taxable

	 (C)	 Partially taxable

	 (D)	 Partially taxable in selected areas

	100.	 Am` H$a A{Y{Z`_ Ho$ àmdYmZm| Ho$ AZwgma, A{J«_ H$a H$s nhbr {H$íV Xo` hmoZo H$s {V{W h¡, JV df© Ho$

	 (A)	 15 OyZ H$mo AWdm nhbo

	 (B)	 30 OyZ H$mo AWdm nhbo

	 (C)	 15 {gVå~a H$mo AWdm nhbo

	 (D)	 30 {gVå~a H$mo AWdm nhbo

	 	 As per the provisions of the Income Tax Act, the due date of first instalment of advance tax is _______ 
of the previous year.

	 (A)	 On or before 15th June

	 (B)	 On or before 30th June

	 (C)	 On or before 15th September

	 (D)	 On or before 30th September
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